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1 He used to run fast but - - - -. 

A) he can play football today 

B) he didn’t used to play football today                            Cevap: C 

C) he can’t walk today 

D) he can walk six hours a day 

E) he plays footbal now 

2 He - - - -  

A) didn’t use to go 

B) did use to do                                                                     Cevap: E  

C) used not to kick 

D) used to use 

E) used to play 

3 He - - - - help to go somewhere but today he uses a wheelchair. 

A) didn’t use to need 

B) used to have                                                                     Cevap: A 

C) did use to be 

D) used not to give 

E) used to ask 
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